
Gonio formules hoofdstuk 12 
theorie 12.1 A en 12.1 B 

 

 

sinus 
sin(−𝑥) = −sin⁡(𝑥) 
−sin(𝑥) = sin(𝑥 + 𝜋) 

sin(𝑥) = 𝑐𝑜𝑠(𝑥 −
1

2
𝜋) 

 

cosinus 
cos(−𝑥) = cos⁡(𝑥) 

−cos(𝑥) = cos(𝑥 + 𝜋) 

cos(𝑥) = 𝑠𝑖𝑛(𝑥 +
1

2
𝜋) 

 

anders 
sin2(𝑥) + cos2(𝑥) = 1 

𝑡𝑎𝑛(𝑥) =
sin(𝑥)

cos(𝑥)
 

 

vergelijkingen sinus 
𝑠𝑖𝑛(𝑎) = 𝑠𝑖𝑛(𝑏) 

 
op [0, 2𝜋]:  

𝑎 = 𝑏 of 𝒂 = 𝝅 − 𝒃 
op ℝ: beide +𝑘2𝜋 
 

vergelijkingen cosinus 
𝑐𝑜𝑠(𝑎) = 𝑐𝑜𝑠(𝑏) 

 
op [0, 2𝜋]:  

𝑎 = 𝑏, of 𝒂 = −𝒃 
 
op ℝ: beide +𝑘2𝜋 
 

verschilformules 
𝑐𝑜𝑠(a − b) = 𝑐𝑜𝑠(a)𝑐𝑜𝑠(b) + 𝑠𝑖𝑛(a)𝑠𝑖𝑛(b) 
𝑠𝑖𝑛(a − b) = 𝑠𝑖𝑛(a)𝑐𝑜𝑠(b) − 𝑐𝑜𝑠(a)𝑠𝑖𝑛(b) 

 

somformules 
𝑐𝑜𝑠(a + b) = 𝑐𝑜𝑠(a)𝑐𝑜𝑠(b) − 𝑠𝑖𝑛(a)𝑠𝑖𝑛(b) 
𝑠𝑖𝑛(a + b) = 𝑠𝑖𝑛(a)𝑐𝑜𝑠(b) + 𝑐𝑜𝑠(a)𝑠𝑖𝑛(b) 

 

verdubbelingsformules 
𝑠𝑖𝑛(2a) = 2𝑠𝑖𝑛(a)𝑐𝑜𝑠(a) 

𝑐𝑜𝑠(2a) = cos2(a) − sin2(a) 
𝑐𝑜𝑠(2a) = 2cos2(a) − 1 
𝑐𝑜𝑠(2a) = 1 − 2𝑠𝑖𝑛2(a) 

 

 


